Mixed operations

-----------------------------------------------------------------------------------------------

------------------------------

1

BODMAS
2 3 4 5

6

B=Brackets O= Of D= Division M=Multiplication A=Addition S=Subtraction

1)

2)

3)

4)

5) 8-2+3=

2+bHx2+2-=

2+ (Bx2)-2-=

(2x2)-2-=

4 -+ 2 x3 =

www. math4children.com

O




Mixed operations

-----------------------------------------------------------------------------------------------

------------------------------

1

BODMAS
2 3 4 5

6

B=Brackets O= Of D= Division M=Multiplication A=Addition S=Subtraction

1)

2)

3)

4)

2+5x2+2-+= 7
2+ (B5x2)-2-= 10
(2x2)-2-= 2
4 - 2x3 = 6
7.334
5) 8-2+:3=
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